Practical Problems

1)  Mr. Jones took out an $18,000.00 loan.  He figured out that after 5 years, he will have paid $1,575.00 in interest.  What is the interest rate on his loan?

1.75%

2)  Kim found a pair of jeans that were on sale for 30% off.  If the original price was $42.50, how much will she pay for the jeans?

Discount: $12.75

Price:  $29.75

3)  Sam found a tie that he liked at two different stores.  At Store A, the tie was originally priced at $49.50 and was on sale for 25% off.  At Store B, the tie was originally priced at $53.00 and was on sale for 30%.  After the discount, will the tie cost less at Store A or Store B?  How much will it cost?
Store A: $37.12

Store B: $37.10

It will cost less at Store B.

4)  Terri bought a car in 2000 for $22,800.  In 2005, her car was worth $17,000.  What is the percent of decrease in the value of her car?

Approximately 25%

5)  The Smith family went out to dinner at the Roadside Café.  The bill for their dinner was $52.50.  If they decide to leave an 18% tip, how much will they spend on dinner?

Tip:  $9.45

Dinner:  $61.95
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Equations and Inequalities
1)  6(x + 4) = 30
2)  4x – 5 - 5x > 13

3)  2(x – 4) < 17 
